o
[N

= C " N A C T N 7 T
g 5 ; = [ | : ; :
N 0.15F -k A E0.15F i ‘ ------------
s F ; : STE | : ; :
I SR AR C 0kt BRI L1101 5 S
v E 5 : : : IR
0.05F-i- I : s-l- L R 0.05F---- |- ’ A -
G A £ s‘- L
~0.05f- -+t it ~0.08F - i TR AT RN R R
Y S I 0.4 ‘ 11 RS
~0.15f----+i-- (N1 ST R R 015 fi-fl -4 - | SIS ¥ R RS
_9—0.21:_.' e balos LU o Ll _9—0.21:_.'.'..'.'.!..' "' T
= F | : : 5 = F 1k 5 l 3 5
o I : : : : o I : : : :
05t g Fr 05 £- 14 Ab o | L
o el el I R
-3 -2 -1 0 1 2 3

0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

|
w

|
N

|
=

— - —_Global_CMSSW _CKT__RECO
DQM_V0001-R000000001_Global _CMSSW_mkFitOriginal__RECO

DQM_V0001-R000000001_Global _CMSSW_mkFitLowPtQuad__RECO
DOM_V0001_R000000001_Global _CMSSW_mkFitLowPtTriplél_ RECO

100, T T T T = 100 T T T T FI A

< 00, > (M)

N
o O
TTT[TTT[TTT[ITT[ITT[ITTIT[TIT[ITITIrT
I I I I I I I I I
H H H Lo H H H
—
<
s

10q|

10q|

RatioI
RatioI

|
w
|
N
= o r_n ; ; ; T
(@]
[

=3 -2 1 0 1 2 3 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

> 5
B o
A 4F
o E
=
o 2F I
v F :
=
OF - |¥it
-l
_22_ H‘: 4 £
2 e
o -5F IEPR% AN /S P MPRPRP W 8 A AP 1 10 JP
o C : ]
o r q 3 5 1
osf- AT
S R l ]
b Ll [ AHIBEL g fall ]
=3 -2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


